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Instructions

1. All questions are of objective type having four answer options for cach. Only one
option is correct. Correct answer will carry full marks 2, In case of incorrect
answer or any combination of more than one answer, % mark will be deducted.

2. Questions must be answered on OMR sheet by darkening the appropriate bubble
marked A, B, C, or D.

3. Use only Black / Blue ball point pen to mark the answer by complete filling up of
the respective bubbles,

4. Do not make any stray mark on the OMR.

5. Write question booklet number and your roll number carefully in the specified
locations of the OMR. Also fill appropriate bubbles,

6. Writc your name (in block letter), name of the examination centre and put your
full signature in appropriate boxes in the OMR.

7. The OMRs will be processed by clectronic means. Hence it is liable to become
invalid if there is any mistake in the question booklet number or roll number
entered or if there is any mistake in filling corresponding bubbles. Also it may
become invalid if there is any discrepancy in the name of the candidate, name of
the examination centre or signature of the candidate vis-a-vis what is given in the
candidate’s admit card. The OMR may also become invalid due to folding or
putting stray marks on it or any damage to it. The consequence of such
invalidation duc to incorrect marking or careless handling by the candidate will
be sole responsibility of candidaite.

8. Candidates are not allowed to carry any written or printed material, calculator,
pen, docu-pen, log table, any communication device like mobile phones ete. inside
the examination hall. Any candidate found with such items will be reported
against & his / her candidature will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are
given in the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and
precaution were taken while framing the Bengali version. However, if any
discrepancy(ics) is /are found between the two versions, the information provided
in the English version will stand and will be treated as final. )
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Space for Rough Work
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Biological Sciences

1. Chlorenchyma is a type of

{A) Permancnt tissue (B) Meristematic tissuc

(C) Mechanical tissue (D) Complex tissue
PIAAIZ @F 4HAT

(A) T = (B) w& %=

(C) FfFs = (D) wiber ==

2. Which onc of the following is the causal organism of Plague?
(A) Bordetella pertussis (B) Yersinia pestis
(C) Staphylococcus aurens (D) Shigella flexneri

N7 @D T i TR

(A) Bordetella pertusis (B) Yersinia pestis

(C) Staphylococcus aureus (D) Shizella flexneri

3. Jaws are absent in which one of the following ?
(A) Hag fish (B) Hippocampus (C) Hilsa (D) Scoliodon

e by wme A A ?
{A) Hag fish (B) Hippocampus (C) Hilsa (D) Scoliodon

4.  Which of the following pairs is correct?

{A) Diabetes insipidus - Insulin {B) Thyroxine - Tetanus

(C) Adrenaline - Hepatitis (D) Diabetes mellitus - Insulin
Aea R e’ Ao

(A) ol SEfeE - TR (B) wiEAlE - Blam

(C) “fEfEm - riibiRh (D) SR WEAREH - T
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In DNA, generally, adenine (A) forms:
{A) two hydrogen bonds with Thymine (T)
(B) three hydrogen bonds with Thymine (T)
{C) two hydrogen bonds with Cytosine (C)
(D) two hydrogen bonds with Guanine (G)

DNA T9, TR, Gef 5o < ¢
(A) WERA (T) -9 AR 6 YTEEH T

(B UEfA (T) -7 7w T+ Q%uem <o
(C) AEHFA (C) -a7 MR 7 YEEA IS
(D) SR (G) <% A 9F YETAA TS

Total number of spinal nerves found in human body are

(A) 32 pairs (3) 31 pairs (C) 10 pairs (D) 24 pairs
TS TS TG R AR R =

(A) 32 T=Te (B) 31 &S (€C) 10 TES (D) 24 &l
The major hormone secreted from pincal gland is :

{A) Cholecystokinin {3) Calcitonin

{C) Melatonin (13} Inhibin
ffme ofy mer =fe aum Z/EAs = -

(A) WIEFACGRIERT (B) FARAGIRS

(C) CEB (D) RN
Apneustic respiratory center is located at

(AY Cercbellum (B) Pons (C) Medulla (1Y) Spinal cord
SEEReT YPTEE W A

(A) TR (B) #¥ - @ (C) TWeH (D) T TS
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9. Acrosome of sperm is formed from which one of the following?

(A} Endosome (B) Mitochondria (C) Golgi body (D) Ribosome
e G W ey SoEEE (od e
(A) e (B) TRERATH (€)= (D) SR

10.  Which of following blood pressurcs are determined by Sphygmomanometer?
(A) Pulse pressure and Pressure pulse
(B) Systolic pressure and Diastolic pressure
{C) Diastolic pressure and Pulse pressure

(D) Bronehial and Alveolar pressure

ffEiRe =R sevrieR Ferumtee e [ = o
(A) TP TR 8 TR Ao
(B) PriifFs PR ¢ srirsiee wmaE
(C) ©HICSIFER w7 8 #FH AR
(D) aEFE © SPEfeeaR EAm

1. Which of the following plant groups shows symbiosis?
{A) Lichens (B) Algae (C) Bryophytes (D) Pteridophytes

R wm SRvgr RediRer o 3@ 2
(A) SR (B) =g ((*RE) (C) IEERG (D) BRTeReEEA

12. Binomial nomenclature was established by :

{A) Carolus Linnacus (B) Joscph Dalton Hooker
(C) William Hooker (D) John Ray

et et effde <tfiE -
(A) i B (B) TEICTE ©EDY &
(C) 3w wF| (D) &1 @&
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13

14.

15

16,

I7.

Hyphac and mycelia are the terms associated with which plant group?
(A) Algac {(B) Bryophyta {C) Fungi (I} Bacteria

2R e wRpEm 9% 9 = R SR v iR
(A) =uER (Cxae) (B) FEFFIE6 (C) FHeX (Z0F) (D) IR

Movement of plants towards the source of light is called

(A) Phototrophic movement (B) Haliotrophic movement

(C) Phototropic movement (I} Photophobic movement
SR SRS e e =

(A) THERFT oo (B) TGRS 5o

(C) TBEHT vom (D) FGIFRT o

A peptide linkage involves
{A) Amino groups only (B) Carboxyl group and hydroxyl group
{C) Amino group and hydroxyl group (D) Amino group and carboxyl group

=6 THBRE FrEre Tm A A

(A) Sy SR ot (B) THRm g3 ZRERE oo
(C) TR g7 TR ZRERET g7 (D) UM g qa PR g

Which of the following terms represents a pair of contrasting factors of a character?
{A) Homozygous (B) Allele  (C) Heterozygous (D) Phenotypes

R smefem w Rl @3 sk (wips Sammels RREE ww@e
(A) TR (B) WifE (C) CHEERAR (D) WEbERe

Red colour of tomato is due to :
(A} B- Carotene (B) Anthocyanin (C) Lycopene (D} Erythrocyanin

BB S WeT IR 55 -
(A) 75t @b (B) WmRERRE (C) =i (D) aEEmEEEA
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18. ‘'Which of the following is not diuretic?

(A) Tea (B) Alcohol (C) CaCl, (D) Protcin
Pz il @ Refe 7w 7
(A) B (3) SR (C) CaCl, (D) e
19.  The term *wood’ is applicable for |
{A) Primary xylem () Secondary xylem
(C) Both primary and secondary xylem (D) Secondary phloem

‘P’ 11 BT =D W TR A
(A) AR SRET (B) Ut &=
(C) #RfERF =, T BriggeT (D) v G
20, Cockroach is afan

(A) Hypermetabolous insect (B) Ametabolous insect

(C) Holometabolous insect (D)} Hemimetabolous insect

WREIE o= G0
(A) SfSsiteg e (B) FoiraR2 i
(C) #jdaeires iR (D) FEFARER ot

21.  Zymogen cells scercte
(A) Bile (B) Chymotrypsin (C) Pepsinogen (D)) Pepsin

HIAEA E WE BES o
(A) Fs (B) FREGAFR () vfEEs (D) vEEE

22. Podocytes are found in

(A) Nephronloop (B) Urethra (C) Uninary bladder (D) Glomerulus

TOICCHIEGRA "eqt T Jrrs
(A) TR T (B) A& (C) Farm (D) el
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23.

24,

15,

State animal of West Bengal is
(A) Indian Fox (B) Common Mongoose {C) Jungle Cat

PR wroE *s @
(A) W= (B) wmiget wfer (C) <G™

Which one of the following is the longest cell in animal body?
(A) Osteocyte (B) Rod cell
{C) Large lymphocyte (D) Neurone

e D A vem AdeT = 7
(A) EFPEAEs (B) 9% G
(C) T fompemizp (D) Fe@m

Which one of the following is an example of limbless amphibian?

{A) Necturus (B) Congo eel

(C) Ichthyophis (D) Salamander
e G MREA Tebe «e Targae?

(A) Necturus (B) Congo cel

(CYy Ichihyophis (D) Salamander

Biological Science (EV-2) 8

(I} Fishing Cat
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26. Opening and closing of stomata happens due to
(A) Changes in hormonal levels in guard cells
(B) Changes in turgor pressure in guard cells
(C) Gascous exchange

(D)) Respiration related reason

g (U @Re, 9% @ e =
(A) THEIE TEA TEE AR
(B) THRIRIE RO HI7R e
(C) e i
(D) P wfe F=

27. Hairs found in the inflorescence of Zea mays are the modification of

(A) Style (B) Stigma (C) Spathe (D) Filaments
PO SR SR R T AR
(A) R (B) ETS (C) oM (D) 7=

28. ICBN stands for
(A) International Code of Botanical Nomenclature
(B) International Congress of Biological Names
(C) Indian Code of Botanical Nomenclature

(D) Indian Congress of Biological Names

ICBN =,

(A) ZRORFITFET (G S G- TSR

(B) SORFUMEE TR ST IAE GRS R
(C) TN =S wF BT WS

(D) TR T w7 AT W
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29. The important site for glycoprotein and glycolipid synthesis is:
{A) Lysosome (B) Vacuole (C) Golgi apparatus (1)) Plastid

PRI ¢ PR fEtHe w—ew o ewged A = -
(A) SR (B) ©iipes (C) st SYHIEDHA (D) A

30. 'Which of the following plant kingdom is called “amphibian® ?
{A)Y Gymnosperms (B) Thallophyta {C)y Trachcophyta (D) Bryophyta

e W SR e = “Terdl’ 1 =™ 9
(A) FBrar=riisfT (B) SIERFIZG! (C) TR aFiZh! (D) FNCEFIEE!

31. 'Which of the following factors increase heart rate?
(A) Adrenaline and Cranial nerve
{B) Sympathetic nerve and Acetylcholine
(C) Parasympathetic nerve and Cranial nerve

(D) Adrenaline and Sympathctic nerve

Fom i ol e TreE 29 & A
(A) <UfEIER @3 SO 7Y
(B) WA AR R SIPGEEE e
(C) *HPTCERA! T 3R FEOH Y
(D) =UIfEEm 3R TR Y,
32,  'Which of the following pairs is mismatched?
{A) Red musele — Myoglobin (B) Troponin — Fibrous Protein

(C) Involuntary muscle — Smooth muscle (D) Connective tissue — Tendon

e =W Eehee wfis @iy ?
(A) RS o - iR (B) Gireifem - owe tifbw
(C) AT TR - et ol (D) QPTG
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33

34,

35,

36,

Malignaney of epithelial cells is known as

(A) Melanoma (B) Lymphoma (C) Carcinoma (I} Sarcoma
WIES RIE R @ 9@
(A) TR (B) fersgprat (C) SHPEE (D) e

Which one of the following assists in amino acid absorption in human body?
{A) Vitamin A (B) Vitamin By
(C) Vitamin Bgand Mn** (D) Vitamin C and Zn?*

AT W WRRTRR SRR SIS IR TR I 7
(A) RERE A (B) feBifm By,
(C) ®BRm B, € Mn* (D) f&oifim C & Zn®*
Motile zygote of the malarial parasite Plasmodinm vivax occurs in
(A) Red blood cells of man '
(B) Liver of man

(C) Gut of female Anopheles mosquito
(D) Salivary glands of Anopheles mosquito

R ARG Plasmodium vivax 9% 756 Lz a1 6 i | o e
(A) T RS 7 IEeH

(B) s IS
(C) il Anopheles T¥9 SH

(D) Anopheles TR <= S90S

Which of the following genus belongs to the class Insccta ?

(A) Branchiura (B) Aedes  (C) Achaearaneq (D) Cyclops
RS @R 4 e b wwye ?
(A) Branchiura (B) Aedes  (C) Achaearanea (D) Cyclops

Biological Science [EV-2) 11 XX8(2)




3.

38.

39,

40.

41.

Which onc of the following fish is called “Lungfish™ ?
(A) Clarias batrachus (B) Heteropnenstes fossilis

(CY Anabas testudinens (D) Protopterus aethiopicus

e @R Wi AR @ o e

(A) Clarias batrachius {(B) Heteropneustes fossilis

(C) Anabas testudineus (D) Protopterus acthiopicus

Metagenesis is seen in the life cycle of

(A) Sea ancmones (B) Obelia {(C) Hydra (D) Aurelia
TF GRA B0F WO (Y T
{A) Sea anemoncs (B) Obelia  (C) Hydra (D) Aurelia

Which cells of liver carry out phagocytosis?
{A) Acinar cell {B) Pancth cell (C) Kupffer cell (1)) Iepatocytes

TJUSA I el FOsiRE e afi T 9w ?
(A) SFIEANE T (B) *0AY T (C) TTR =™ (D) TAGARE

Deposition of cholesterol in the inner wall of artery is known as

{A) Stenosis (B) Thrombosis (C) Atherosclerosis (1)) Rhinitis
WA WA (RECDRe A RO A

(A) THEIA (B) & (C) SUREPTEERE (1)) FRAiEEA
Which of the following is not a part of nephron ?

{A) Distal convoluted tubule {B) Collecting duct

(C) Henley's loop (D) Proximal convoluted tubule
Tes b TR Wt = 7

(A) & TS el (B) A wifert

(C) T % =g (D) arres wifers
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41,

43,

44,

45,

Chlorophyll in chloroplast is located in
(A) Grana (B) Pyrenoid {C) Stroma (D} Both grana and stroma

GIEREE SETsT W et 1
(A) & (B) RS (©)TER (D) g6t ¢ TH TeEy

Which of the following cell organelles is involved in protein synthesis?
(A) Centrosome (B) Golgi body
{C) Mitochondrium (D) Ribosome

Apd @ @ el e weE - @ 3o
(A) CHEIES (B) si=fft <% (C) IEBrR=EaT (D) R

Which of the following structures is formed by the inner membrane of the
mitochondria?

(A) Thylakoids (B) Lamellae (C) Cristac (D) Grana

e @ s1omE TRGR-EER wusg oM or ooR w=w
(A) NIETRESH (B) =icafer (C) f&fE (D) sit

Which is the most primitive ancestor of man?

(A) Ramapithecus (B) Australopithecus

(C) Homo habifis (D) Homo neanderthalensis
G W @i o o

(A) Ramapithecus (B) Australopithecus

(C) Homo habilis (D) Homo neanderthalensis
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46. Haemophilia in human is a
(A) Dominant X- chromosome linked character
(B) Recessive X- chromosome linked character
(C) Dominant Y- chromosome linked character

(D) Recessive Y- chromosome linked character

TR R o <=l
(A) X- AN I8 #el@l (Dominant ) Biew
(B) X GRS 3@ RS (Recessive ) 5fEd
(C) Y- WHFIANE §6 2@ a (Dominant) bfad
(D) Y - GRS 7% RS (Recessive) BR@

47.  Which of the following pair is correct?
{A) Pineal gland — Inhibits menstrual eycle
(B) Erythropoictin — Interstitial cell
(C) STH - Oxytocin

(D) Cholecystokinin — Controls secretion of pancreatic enzymes

Aiww @ Ereb wT
(A) PfRaeE e - seEser I T
(B) affRIFEDA - ZRoRFSFEE
(C) STH - SfEEFE=
(D) PIAPCHRIRAT - SR Srhe wwd Fuad @

48. 'Which of the following is a sexually transmitted discase?
(A) Encephalitis (B) AIDS (C) Myasthenia gravis (1) Otitis media

g @iHn W - Al RS ey
(A) GRRFEABGA (B) AIDS  (C) MEPRFRT Cafes (D) €Gi2% e

Biological Science (EV-2) 14 XXB(2)



49. Hyperglycemic hormones are
(A) Insulin and Adrenaline (B) Glucagon and Epincphrine
(C) Glucocorticoids and Oxytocin (D) ADH and Somatostatin

T R Ref =
(A) T @ g (B) gr @ aFiEHfEw

(C) gr<ioared @ SRHhe (D) ADH '8 TiwiBrone

50.  Which of the following pituitary hormones controls function of sertoli cells ?
(A) STH (B) FSH {C) LH (D) Oxytocin
RS @ PSR TweG TRER mem s faad a@p

(A) STH (B) FSH (C) LH (D) SRFGH

Biological Science (EV-2) 15
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OMR i e 39 el Sy (Tte FF wiE Tl =l

OMR I Ffig TR wemies w78 e Res ®e 797 S Aeeen A s
T R, AEEAE el o T T

OMR =@ FE W Fiea =9 ¢ &% e " s = e Res e
AR s =3

OMR TEaval JERGHT TR AW A I JTAR WA TEH N WE
Tor o oAl O 9 G e eaviafs wiRar s e TS A awel

w, ~F @rEE A9 A AWE @ G Qe Bew o [ 2 1S
SE OMR Bowril S T A OIS SRR AP AeEe IS T WS A
ST G T G A S T GeR I T i A fe
S T WA UASE

RIS, e, FiaTwe, wipae, crifd, 4rF T @ wEeE ofe A8
T i TE AN iNE G5 AEEd 1R ke ARmiRE ey cdE s v w|

P I AT 05 AR T D] bl (RS WE) e [ S 6% 30
TEEE T AN

7 TF QTR W OMR AT Wy I AeRee e 1w

% 2P BRG] S TeE TOH OEeE &Y (RSN SR IRET WO &Y 0w T
TG TS @ AT SRe T4 FERl O WES IR @ P T 4
T, GOFE RRAE T Med oY 5% ¢ por W@ Rebo =)
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